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Part A
Section Id : 920906289
Section Number : 1
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 21
Number of Questions to be attempted : 21
Section Marks : 100
Enable Mark as Answered Mark for Review and Clear Yes
Response :
Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906470
Question Shuffling Allowed : No

Is Section Default? : null



Question Id : 92090614579 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

1 few 71U g=riw 1 e O uga g Ui & ST al -

U g1 ORT H9A1 G 81 & &,

TR DI A1 B GR1 YT TH &,
qH &1 S &1 | a- 4R I €2
Y B Ul & 90N W &R & a,
P! iTad # gRRAR W A g,
fire= 31 3ifEl & ot @ Sffemy,
Uy TR QRI-URT UhT< 81 - &l

g BUSI-3US! Id FIGI-HT 3TeH,
¥ Hig-vA-, T 5 oI draH |

Sub questions
Question Number : 1 Question Id : 92090614580 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

JURTeR Ul # U0 1 14 994 Hiferg|

(1)  WHT (2) Pd
(3) BIHIR (4) B
Options :

92090657601. 1
92090657602. 2
92090657603. 3
92090657604. 4

Question Number : 2 Question Id : 92090614581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR Weg H1 fAd™ o1 g2

(1) USRI (2) SfoErI
(3)  3ulldl (4)
Options :

92090657605. 1
92090657606. 2
92090657607. 3
92090657608. 4

Question Number : 3 Question Id : 92090614582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3US-3US H $1-91 Ysg ¥U 872

(1)  SFBUTEAD e (2) TUHFTHS Ueg
(3) A% e (4) Tad Weg
Options :

92090657609. 1
92090657610. 2
92090657611. 3
92090657612. 4

Question Number : 4 Question Id : 92090614583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A-HY Yeq, H HH-H1 THY TG g3l 67

(1) 3fegdiyE (2) HHYRY
3) fa1 @) dgsy
Options :

92090657613. 1
92090657614. 2
92090657615. 3
92090657616. 4

Question Number : 5 Question Id : 92090614584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

TRT Ueg H ' & Ard @t fa<] &1 FT Hgd o7

1 &= 2 fog
(3) o (4) Ble
Options :

92090657617. 1
92090657618. 2
92090657619. 3
92090657620. 4

Question Id : 92090614579 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)
Question Label : Comprehension

2 few 71U y=riw &1 e O U g Ui & STl -

U &1 oRT 91 QR1 &1 o &,

TR B B BT GR1 YT TH 3,
qH &1 ST &1 i d-4R 3T €2
3 B U9 & WM W R A g,
! sifad 7 gRR R T 2,
fire= 31 3ifEl & ot &1 Sy,
Uy TR QR1-UR1 UhT< g1 - &l

g BUSI-3US! Id FHIGI-HT 3TeH,
H Aig-v-t, I =g s araH |

Sub questions
Question Number : 1 Question Id : 92090614580 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

IR Ui H YT 1 A1 994 Sifeid|

(1)  UHK ) Pd
(3) BIWIR (4) UHI
Options :

92090657601. 1



92090657602. 2
92090657603. 3
92090657604. 4

Question Number : 2 Question Id : 92090614581 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"3RI s T fAEH o1 g1m?

(1) UPR (2) IR

(3)  3ulldl (4)
Options :

92090657605. 1
92090657606. 2
92090657607. 3
92090657608. 4

Question Number : 3 Question Id : 92090614582 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3US-3US H $1-91 Ysg ¥U 872

(1)  SFBUTEAD e (2) TUHFTHS Ueg
(3) A% e (4) Tad Weg
Options :

92090657609. 1
92090657610. 2
92090657611. 3
92090657612. 4

Question Number : 4 Question Id : 92090614583 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
-1 Ueg H HH-H1 THH W g3l 82
(1) 3fAdIYE (2) PHYRY
3) fa (@) dgeEy

Options :



92090657613. 1
92090657614. 2
92090657615. 3
92090657616. 4

Question Number : 5 Question Id : 92090614584 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TRT Ueg H ' & Ard @t fa<] &1 FT Hgd o7

1y &= 2 fog

3) e (4) Slc
Options :

92090657617. 1
92090657618. 2
92090657619. 3
92090657620. 4

Sub-Section Number : 2
Sub-Section Id : 920906471
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 6 Question Id : 92090614585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TUrdTae fA2I901 &1 §eld el IHu?

(1) faceh axgeli &1 afgsdRr & (2) d TR el Sdir?
(3) Urgl THSHE Al (4) DO THHMA T M3
Options :

92090657621. 1
92090657622. 2
92090657623. 3
92090657624. 4

Question Number : 6 Question Id : 92090614585 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



U faLN0 1 §eld I8l iHu?

(1) e axgsi &1 sfewpR #3| (2) 3 TN Pl e
(3) UTSIAABH A @l (4) DS AHGE o 33|
Options :

92090657621. 1
92090657622. 2
92090657623. 3
92090657624. 4

Question Number : 7 Question Id : 92090614586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I= fAdHl ¥ 99 @ § | 91 § Xgifed Us f6Y9 T3 & 9 &1 Sd s W@ &2

(1) SfdqaE® 2) e
(3) HEErES 4) ufHUEES
Options :

92090657625. 1
92090657626. 2
92090657627. 3
92090657628. 4

Question Number : 7 Question Id : 92090614586 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I= fOdHl ¥ 9d @ § | 91 § YWifed Uss [ T3 & Je &1 3 W@ 87

(1) fdddra® 2) wfaarEs
(3) HEHEES (4) URHUEES
Options :

92090657625. 1
92090657626. 2
92090657627. 3
92090657628. 4

Question Number : 8 Question Id : 92090614587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1 w1 faE Fifoe

| g -
(A) AR () TIeY TAN
(B) XMYA (y fegans
(C) UldnaR (ny  3fediyE HY
(D) TaUE (Iv) gdife Tad

412 feu e f9sedi # 9 9l IR &1 994 I

(M (A)-(), (B)-(IV), (O-(1), (D)-(l)
(2 (A=), B)-(1), (Q-(Iv), (D)-()
(3) (A=), (B)-(1V), (O)-(1), (D)-(1)
4 (A)-(V), (B)-(11), (O-(1), (D)-(ln)

Options :

92090657629. 1
92090657630. 2
92090657631. 3
92090657632 4

Question Number : 8 Question Id : 92090614587 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il | & 1y gt 1| &1 fieE Sifore

- -l
(A) AR () dgeY THY
(8) IGYA (ay feganAs
(C) UldnaR (I 3ty 9
(D) U8 (Iv) dgdife Iar
19 fau T fasedi d 8 9El IR &1 99 SifoT:
(1) (A)-(I1), (B)-(IV), (C)-(1), (D)-(111)

(3) (A, (B)-(IV), (©)-(D), (D)-()

)-(
(@) (A1), B)-(), (C)-(IV), (D)-()
)-(
4 (A)-(v), (B)-(I), (C)-(), (D)-(1)



Options :

92090657629. 1
92090657630. 2
92090657631. 3
92090657632. 4

Question Number : 9 Question Id : 92090614588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y gt 1 1 faaE Sifse

Tl-| NEIEl

(A) 3MTeH (1) TGN JH
(B) cxHfad (1)  SEIHE JHY
© JYEg™ () Sgdile T
(D) <A (Iv) &g 9H™
19 fau U faseul # 9 gl IR 19U SIS
(1) (A)-(1), (B)-(I), (C)-(1V), (D)-(l11)
2 (A)-, EB} (1), (©)-(1V), (D)-(I)
(3) (A=), (B)-(), (O)-(IV), (D)-(1)
(@) (M-I, (B)-(1V), (O)-(1), (D)-(111)

Options :

92090657633. 1
92090657634. 2
92090657635. 3
92090657636. 4

Question Number : 9 Question Id : 92090614588 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | & a1y g 11 B fAeE S

- EEIST
(a) 34 (1) Ty gAY
(8) SHfE (1)  SfEdTHId JHE
(€ g@gw () dgdife gaTH
(D) S=MHA (V) &g 9H™
4 feu v flaseul © ¥ 98l 3O &1 994 S
(1) (A)-(1), (B)-(IN), (C)-(IV), (D)-(1NN)

(3) (A=), (B)-(n), (Q-(V), (D)-()

)-(
(2) (A=), (B)-(1). (O)-(IV), (D)-(ID)
)-(
@) (A, (B)-(IV), (Q-(), (D)-(I)

Options :

92090657633. 1
92090657634. 2
92090657635. 3
92090657636. 4

Question Number : 10 Question Id : 92090614589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 UTY 9§ S 9Tdd s BRI -
A, TfcHHE

B. U
C. ffeH
D. fourfa

e fea

12 fau e fasedl # 9 el 3T’ &1 994 SIfo
(1) dd A B

(2) &dd B, C

(3) dd B, D

(4) Hdd E

Options :
92090657637. 1



92090657638. 2
92090657639. 3
92090657640. 4

Question Number : 10 Question Id : 92090614589 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3q UTY 9§ S 91d Ue BRI -
A, TIfaHH

B. S
C. ffeH
D. fuurfa

e fed
412 feu 1 fasedi @ | Jel IR &1 994 DI ;

(1) &dd A B
(2) Pdd B, C
(3) &dd B, D
(4) Hdd E

Options :

92090657637. 1
92090657638. 2
92090657639. 3
92090657640. 4

Question Number : 11 Question Id : 92090614590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

afe m=2, n=3AW12m*-3mn FTHAE:

(1 92 (2) 88
(3) 94 (4) 90
Options :

92090657641. 1
92090657642. 2
92090657643. 3



92090657644. 4

Question Number : 11 Question Id : 92090614590 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gfe m=2, n=3d 12m*n-3mn* BIHAE

(1) 92 (2) 88
(3) 94 (4) 90
Options :

92090657641. 1
92090657642. 2
92090657643. 3
92090657644. 4

Question Number : 12 Question Id : 92090614591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ﬁm#wmmm]ﬁwg W W @ bR IET sifd geg & 20% e
3R IY U sifdrd geu W &9 | = &1 @y ufawrd &1 82

(1) 25% (2) 50%
(3) 40% (4) 60%
Options :

92090657645. 1
92090657646. 2
92090657647. 3
92090657648. 4

Question Number : 12 Question Id : 92090614591 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



ﬁmﬁwmmma@wg W R el R I oifd e #Y 20% o1 R
3fR 3 U sifdhd Hed U &9 fen| fean &1 @ ufa=rd @1 g2

(1) 25% (2) 50%
(3) 40% (4) 60%
Options :

92090657645. 1
92090657646. 2
92090657647. 3
92090657648. 4

Question Number : 13 Question Id : 92090614592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl Uy A OYT B UH el &l HH: 15 e aul 20 fiFe # WR 9l g1 SF1 usyl &1 U
T Wl T U] 4 ATe 91 Ugy A & §w &R f&a1 Tl &t &1 WRA # od a1 7y
e

(1) 14 fiAe 40 9ds 2) 12 f#e 30 Bbs
(3) 11 TPHe 45 §hE (4) 10 f8He 20 OFe
Options :

92090657649. 1
92090657650. 2
92090657651. 3
92090657652. 4

Question Number : 13 Question Id : 92090614592 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sl USY A dYT B U el &l HHI: 15 e aur 20 fiFe # WR 9l §1 aF1 uisyl &1 U
1Y Gl 71 W= 4 e 91 U5y A &1 d=< & {331 a1 78t 1 WA | $d faa1 971y
e

(1) 14T 40 9F3 2) 12 e 30 O3
3) 11 THAe 45 s (4) 10 f0FE 20 THs
Options :

92090657649. 1
92090657650. 2



92090657651. 3
92090657652. 4

Question Number : 14 Question Id : 92090614593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

YT & oiF 319 A1 foFB] YU HHDL: 3 cm, 4 cm TUT 5 cm &, &1 [Ugdl & TP gl 94
11 71| AU §U UHT & gET &thd &1 417 aUT - O & I & d | 941 34T 87

(n 2:1 @ 32
(3) 25:18 (4) 27:20
Options :

92090657653. 1
92090657654. 2
92090657655. 3
92090657656. 4

Question Number : 14 Question Id : 92090614593 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & I 3 g oS! YO HH: 3 cm, 4 cm YT 5 cm §, &1 A R TH F21 T4
191 71| 3T gU U & gy &Fd &1 417 9T AT 99 & gEIg &% J 1 SN 82

(1) 2:1 (2 3:2
(3) 25:18 4) 27:20
Options :

92090657653. 1
92090657654. 2
92090657655. 3
92090657656. 4

Question Number : 15 Question Id : 92090614594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oid A % 65,000 BI AR BT 31 a1l & Faw far aur 2 a4 ugiq 7,275 & &6 J Uw

{3 | T H AURY TS 6% dIfte 9 &0 & aul JioHT 1| § dshdia ol 5% dift® od g
OIS | a1 dieT 11 H FafRa aRE! &1 sHuTd 91 S|

(1) 1:1 2) T1:b
(A) &:4 (4) 3:4
Options :

92090657657. 1
92090657658. 2
92090657659. 3
92090657660. 4

Question Number : 15 Question Id : 92090614594 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

oid A % 65,000 B AR 1 31 o1l & [ far aur 2 a9 uyiq 7,275 & 9 § Uw

fa | TS o WIURY TS 6% dlitd GR &0 § auT TorT 1| § dshdia &I 5% diftie < ¢
I | YT grer 1| H FafRa iR &1 sruTd F1d S|

(M ; il (2} TL6
(3) 5:4 4 3:4
Options :

92090657657. 1
92090657658. 2
92090657659. 3
92090657660. 4

Question Number : 16 Question Id : 92090614595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&I 9l fdeed o, R Ra x &1 gl axar g :

(1) (2)

N

(3) (4)

Options :

92090657661. 1
92090657662. 2
92090657663. 3
92090657664. 4

Question Number : 16 Question Id : 92090614595 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
& 9 faeed g, RIMA A x S i Har g -

(1) (2)

(3) (4)

/




Options :

92090657661. 1
92090657662. 2
92090657663. 3
92090657664. 4

Question Number : 17 Question Id : 92090614596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofd U 1 U T $I 125 BIe GAEY 941 § fayiiora o oiran € 1 fba- 81 94 faar i
g

(1) 27 (2) o4
(3) 8 (4) 16
Options :

92090657665. 1
92090657666. 2
92090657667. 3
92090657668. 4

Question Number : 17 Question Id : 92090614596 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofd U 1 U T $I 125 BIe GAEY 941 § fayiiora o oiran € 1 fba- 81 94 faar i
g

5 5 N § (2) o4
3) 8 (4) 16
Options :

92090657665. 1
92090657666. 2
92090657667. 3
92090657668. 4

Question Number : 18 Question Id : 92090614597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



&1 7S 4T 12, 30, 120, 460, 1368, 2730 F XY HHT 16, (A), (B), (C), (D), (E) TafHd B
dd 91d BIfot fob D & WA W S ufawifig grm?

(1) 1384 (2) 2642
(3) 2808 (4) 1988
Options :

92090657669. 1
92090657670. 2
92090657671. 3
92090657672. 4

Question Number : 18 Question Id : 92090614597 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 715 @ 12, 30, 120, 460, 1368, 2730 P SEY 4Gl 16, (A), (B), (C), (D), (F) ARG B
4 Id Bifelt f D & RIF W H14 Hiawifia grm?

(1) 1384 (2) 2642
(3) 2808 (4) 1988
Options :

92090657669. 1
92090657670. 2
92090657671. 3
92090657672. 4

Question Number : 19 Question Id : 92090614598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3 feg U wsdt & e g & o o ey B, 7€ gHE Tey g o g | & g
o= Mg : Mifd Areg

(1) IYEdr: Ared (2) Hdg®d : 99
3) g . aes 4) e Tmemen
Options :

92090657673. 1
92090657674. 2
92090657675. 3
92090657676. 4



Question Number : 19 Question Id : 92090614598 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2 f3u U wreal & Hel g & o ol daY g, 91 GAH Hay AU e g | 4 g
&g et ; Mifd Areg

(1)  fEdr: Jee (2) YHdlg® :€H
3) s ares (4) famfar: S
Options :

92090657673. 1
92090657674. 2
92090657675. 3
92090657676. 4

Question Number : 20 Question Id : 92090614599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 1 981 gd fa2n @1 &k 81 ag udl &1 fa=n § 100° W YSdl 8 3R R arga fezn #
145° R Sl g1 3d X BT I by f3sm &1 SR &2

1 u 2 IW-yd
3) JTW (4) afémo-uigy
Options :

92090657677. 1
92090657678. 2
92090657679. 3
92090657680. 4

Question Number : 20 Question Id : 92090614599 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X 1 981 gd fa2n @1 &k 81 ag udl &1 fa=n § 100° W YSdl 8 3R R arga fezn #
145° R Sl g1 3d X BT I by f3sm &1 SR &2

1 u 2 IW-yd

B) TW (4) afémo-uigy

Options :



92090657677 1
92090657678. 2
92090657679. 3
92090657680. 4

Question Number : 21 Question Id : 92090614600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PREICLE B YR IR féad HA Sl 3 |
(1) 8 3f (2) 8 Ryamr

(3) 83 (4) 8AdraER
Options :

92090657681. 1
92090657682. 2
92090657683. 3
92090657684. 4

Question Number : 21 Question Id : 92090614600 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

PREICLE 1 YR AT fead HA Sl 3 |
(1) 8RN 2) 8RR

(3) 83T @) 8RR
Options :

92090657681. 1
92090657682. 2
92090657683. 3
92090657684. 4

Question Number : 22 Question Id : 92090614601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYET &1 99 I

A HRH AP 1 Uomell U9 RS ¢ | U8 OF IR0 § Ue9E o | Udd TRUl &
FSHH Haed g |

B. MR HAYH & YR Yo WHR YR ! Ydied SAGR] FH™ g1 3R Womed! &1
UYH TR0 g |

C. U™ WHR fgd = &1 ulaFYd $3d € 3R Udd I & AHS WHR gRI
AR B HId g | Afch 39 U Big HIABRI Wfadd T8i e

D.  S{H=IH &1 R TR0, R TR W Uahd & &9 6 g
I feu U faedl # W 98l IR & 99 Sifelg ;

(1) &ad A B3IRC
(2) Had ASIRB
(3) ®ad B3R D
(4) &dd A B3R D
Options :

92090657685. 1
92090657686. 2
92090657687. 3
92090657688. 4

Question Number : 22 Question Id : 92090614601 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



el HYET &1 99 I

A HRH AP 1 Uomell U9 RS ¢ | U8 OF IR0 § Ue9E o | Udd TRUl &
FSHH Haed g |

B. MR HAYH & YR Yo WHR YR ! Ydied SAGR] FH™ g1 3R Womed! &1
UYH TR0 g |

C. U™ WHR fgd = &1 ulaFYd $3d € 3R Udd I & AHS WHR gRI
AR B HId g | Afch 39 U Big HIABRI Wfadd T8i e

D.  S{H=IH &1 R TR0, R TR W Uahd & &9 6 g
I feu U faedl # W 98l IR & 99 Sifelg ;

(1) &ad A B3IRC
(2) Had ASIRB
(3) ®ad B3R D
(4) &dd A B3R D
Options :

92090657685. 1
92090657686. 2
92090657687. 3
92090657688. 4

Question Number : 23 Question Id : 92090614602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT ST B YR 359 $1 RRAR OieE1 82

(1) FAleH (2) dREArg
(3) Y uH (4) AT
Options :

92090657689. 1
92090657690. 2
92090657691. 3
92090657692. 4

Question Number : 23 Question Id : 92090614602 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



AT ST B YR 35g $1 RRAR OieA1 87

(1) HAle®d (2) dREArg
(3) Y W (4) AT
Options :

92090657689. 1
92090657690. 2
92090657691. 3
92090657692. 4

Question Number : 24 Question Id : 92090614603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R A FyERTMUE:
FYT| : BRURE B (¢dH) Uh AU B 8, ofl DA & arHiY IR IeTl &l g1 98
Uoligpd =i SR Ff iR @r) faran s g1

HU Il : T =TS 3R YT (Goll 1l & SIS o I Ugd & o1y R gRebierd i i g1
IRl Y= & 3feid H, i AT 17U faseal # 4 ¥gl S 9a4 difo

(1) YIRS TT &

(2) YR IEH T ©

(3) ®YF| A g, Alpd YA 1| A 8
(4) HYTI TG B, Afbd FYT 1 TA 8

Options :

92090657693. 1
92090657694. 2
92090657695. 3
92090657696. 4

Question Number : 24 Question Id : 92090614603 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



R FERumE:

FYT| : DRURE B (cad) TP HUTS BT ¢, Gl A & ATHY W Iel ordl g1 98
Ueiigrd St TR FRTHT OR @ fovan i g

HUF Il : g TG R T (Yol H=lT) & HIe o4 4§ Ugdl & a1 IR gRapferd b oiran g1
IR YA & 3fTdes |, IF {3 U fasedl 7 4 ¥el I 904 Hife

(1) FYHISRISH TIE

(2) YT SRISH T §

(3) YT TG B, AFT HYA 11 ST 8§
(4) HYTI AT T, AP FYT 1 A8

Options :

92090657693. 1
92090657694. 2
92090657695. 3
92090657696. 4

Question Number : 25 Question Id : 92090614604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y gt 1 &1 faE Fifoe

- -l
el Ud ABR TH
(A) TSI gaal () &d
®) fag () HAeH
(€ YTME (ny fewre™ udw
(D) T (v) Sfifgam

= fau v fasedi ¥ 9§ 9 IR &1 994 DI

(1) (A)-(1), (B)-(1), (C)-(1V), (D)-(I)
(2) (A=), (B)-(1), (O)-(IV), (D)-(I)
(3)  (A)-(V), (B)-(I1), (C)-(1), (D)-(D)
(4 (A)-(), B)-(IV), (O)-(1), (D)-(IN)
Options :

92090657697. 1

92090657698. 2
92090657699. 3



92090657700. 4

Question Number : 25 Question Id : 92090614604 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gl | & 91y gt 1| &1 faeE Sifore

- -l
Ad Ud dER T
(A) ST el () &
®) fag )y HAleE
(© IYTE (ny  fewTea uew
(D) dadd (V) Sfiftsgm
1 fau U fasmedl # O HEl SR &1 994 Sife:
(1) (A)-(1), (B)-(11), (C)-(IV), (D)-(11)

)-(
(2) (A=), (B)-(1), (O)-(1V). (D)-(1N)
(3)  (A)-(V), (B)-(I1), (C)-(1), (D)-(1)
(4 (A)-(), (B)-(IV), (O)-(1), (D)-(I)

Options :

92090657697. 1
92090657698. 2
92090657699. 3
92090657700. 4

Part B: Animal Science

Section Id : 920906290
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 75
Number of Questions to be attempted : 75

Section Marks : 300
Enable Mark as Answered Mark for Review and Clear Yes
Response :

Maximum Instruction Time : 0
Sub-Section Number : 1
Sub-Section Id : 920906472

Question Shuffling Allowed : Yes



Is Section Default? : null

Question Number : 26 Question Id : 92090614605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In 1965 was launched to replace Key Village Scheme having purpose of
increasing milk production and other aspects of cattle improvement such as breeding,
feeding, health, extension activities etc

(1) Goshalas (2) Pinjrapole
(3) Gosadan (4) Intensive cattle development project
Options :

92090657701. 1
92090657702. 2
92090657703. 3
92090657704. 4

Question Number : 26 Question Id : 92090614605 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
G IATEA de R HaARET (Uy) & YR $ 37 ggded S UeH, UieH, Wy, fawR

fafaferdt nfg @ g &1 3e%g & ugE 914 i1 & 95e- & e 1965 H ——— @it
Y& B T A

(y  Iir=men 2 feRge

(3 TieA @) e uge fawTe ufder

Options :

92090657701. 1
92090657702. 2
92090657703. 3
92090657704. 4

Question Number : 27 Question Id : 92090614606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i5 the ideal measure of dispersion and its value is always greater than
mean deviation

(1) Standard error (2) Coefficient of variance
(3) Range (4) Standard deviation



Options :

92090657705. 1
92090657706. 2
92090657707. 3
92090657708. 4

Question Number : 27 Question Id : 92090614606 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
37y uepiofq @Y O § iR S 0 od T1w fameH § ofts g g

(m TS Ffe (2) RO Ul
@ O (4) HHBETa
Options :

92090657705. 1
92090657706. 2
92090657707. 3
92090657708. 4

Question Number : 28 Question Id : 92090614607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Central tendencies tell about central position of any series does not includes-

(1) Mode (2) Median
(3) Coefficient of variance (4) Mean
Options :

92090657709. 1
92090657710. 2
92090657711. 3
92090657712. 4

Question Number : 28 Question Id : 92090614607 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Sy ygfa sl ot 4uft &t =iy Rufd &1 IR # sardl § sk, 3o afeiferd 781 82

(1) dga® (HIS) ) wWes @{ifgwm)
(3) VRO UNE (4) HIH (HF)
Options :

92090657709. 1
92090657710. 2
92090657711. 3
92090657712. 4

Question Number : 29 Question Id : 92090614608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

According to clinical signs is a preacute disease

(1) Rinderpest (2) Tuberculosis

(3) Anthrax {(4) Rickets
Options :

92090657713. 1
92090657714. 2
92090657715. 3
92090657716. 4

Question Number : 29 Question Id : 92090614608 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AAS Sl S TR ——— U 1 U gdidde W 2|
(1 =Eaw (2) TP
() 4 ey
Options :

92090657713. 1
92090657714. 2
92090657715. 3
92090657716. 4

Question Number : 30 Question Id : 92090614609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

The test used to compare two variances is

(1) Z - test (2) T-tost
(3 F - test (4) Chi square test
Options :

92090657717. 1
92090657718. 2
92090657719. 3
92090657720. 4

Question Number : 30 Question Id : 92090614609 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&1 UERUT @ a1 & forg e &t & arelt Sifd ¢

(1) z-SH @ T-§f
(3) F-dd (4) TRETER ™
Options :

92090657717. 1
92090657718. 2
92090657719. 3
92090657720. 4

Question Number : 31 Question Id : 92090614610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The animals get swelling on hind quarters, showders and neck, limps and pressing
the affected parts makes erepitating sound in the disease

(1) Black quarter (2) Haemorrhagic septicaemia
(3) Foot and mouth disease (4) Kinder pest
Options :

92090657721. 1
92090657722. 2
92090657723. 3
92090657724. 4



Question Number : 31 Question Id : 92090614610 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

SFE & d1urs Usdre, i SR T4 T Yo, TSI SR THIEAd 4T &1 gaH IR I 3
AT APpaa —— T & A& B

(1) &b B Q) FTIE g
(3)  He-Er I @4 =uw
Options :

92090657721. 1
92090657722. 2
92090657723. 3
92090657724. 4

Question Number : 32 Question Id : 92090614611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Diseases that are transmitted from parents to the off springs are known as-

(1) Congenital diseases (2) Herediatay diseases
(3) Acquired diseases (4) Sporadic diseases
Options :

92090657725. 1
92090657726. 2
92090657727. 3
92090657728. 4

Question Number : 32 Question Id : 92090614611 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
3 A1 St Ar- e (o) @ Hafa H dafa 9 E sean § -

(1) S I (2) S A
(3 affefa A @) fe-ge @iifes) I
Options :

92090657725. 1
92090657726. 2
92090657727. 3
92090657728. 4



Question Number : 33 Question Id : 92090614612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rashtriya Gokul mission launched in

(1) July 2021 (2) July 2015
(3 August 2021 (4) dJuly 2014
Options :

92090657729. 1
92090657730. 2
92090657731. 3
92090657732. 4

Question Number : 33 Question Id : 92090614612 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST Mgt FIeH, —— & URY (&if=) T man )

(1) G]_ﬂlé 2021 (2) @E’llé 2015

(3) SR 2013 (4) S[Ts 2014
Options :

92090657729. 1
92090657730. 2
92090657731. 3
92090657732. 4

Question Number : 34 Question Id : 92090614613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Encephalomalacia in poultry 1s caused due to deficiency of

(1) Vitamin Bl (2) Vitamin B2
(3) Vitamin E (4) Biotin
Options :

92090657733. 1
92090657734. 2
92090657735. 3



92090657736. 4

Question Number : 34 Question Id : 92090614613 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fage I THBATAIIT B HRU| &1 S g B
(1) faerfiE B ) faer®=s2

3y faerfime 4) Emifed
Options :

92090657733. 1
92090657734. 2
92090657735. 3
92090657736. 4

Question Number : 35 Question Id : 92090614614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Flieg Index” is community used method for evaluation of

(1) Hay quality (2) Silage quality
(3) Haylage quality (4) Sulage quality
Options :

92090657737. 1
92090657738. 2
92090657739. 3
92090657740. 4

Question Number : 35 Question Id : 92090614614 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T Yadie D ——— & i & oy waeT &t -l fafa g1
(1) YA DI IUrE 2) focs &t qoE

(3) gl @I Toradl (4) HaT (Higelel) &1 Yura
Options :

92090657737. 1
92090657738. 2



92090657739. 3
92090657740. 4

Question Number : 36 Question Id : 92090614615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List T with List 1T :

List I Last 11

Diseases of Poultry Type of disease
(A) New Castale diseases ()  Warm infection
(B) Colibacillosis (IT) Protoan disease
(C) Coccidiosis (III) Bacterial disease
(D) Ascariasis (IV) Viral dise

Choose the correct answer from the options given below :

(1) (A)-D, (B)-(1I), (C)-(I1I), (D)-(IV)
(2)  (A)-IID, (B)(IV), (C)-(ID), (D)-(D)
(3)  W-AV), (B)-I1D, (O)-AD), D)D)
(4)  Q-1D, (B)-(ID), (C)-(IV), (D)-(D

Options :

92090657741. 1
92090657742. 2
92090657743. 3
92090657744. 4

Question Number : 36 Question Id : 92090614615 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



et | < Gy g 1| 1 i Sife

-1 i -

PIpC BT I A BT UHR
A) gded ol (I e @) dhH0
(B) PlcarITaH (VeSS SRR
(€) DlgIfgNTay (ny  SfiaTo] S 3
(D) UEHRERY (vy Ty SifE 3

4 feu o fawedl F 9 wet I &1 9 Sife:

(1) (A)-(). (B)-(1), (C)-(), (D)-(IV)
(2)  (A)-(1), (B)-(1V), (O-(n), (D)-(I)
(3)  (A)-(V), (B)-(1), (C)-(1N), (D)-(1)
(4)  (A)-(), (B)-(I), (©)-(IV), (D)-(1)

Options :

92090657741. 1
92090657742. 2
92090657743. 3
92090657744. 4

Question Number : 37 Question Id : 92090614616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Urea never be incorporated in the diet of

(1) Horse

(2) Dug

(3)  Adult buffalo
(4) Adult cow

Choose the correct answer from the options given below :

(1) (A) only

(2)  (A), (B) & (C) only
(3) (D) only

(4) (D) & (E) only

Options :
92090657745. 1



92090657746. 2
92090657747. 3
92090657748. 4

Question Number : 37 Question Id : 92090614616 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

givar &1 &t ol & oA o et a1 fdar sran
A R

B. HISl

C. Pl

D. dO% Hg

EE dU&h MY

+ra feu v faedi 9 udt 3R &1 95 Sifoig -
(1) ad A,

(2) Fdd A B3R C

(3) dd D

(4) $dd DIRE

Options :

92090657745. 1
92090657746. 2
92090657747. 3
92090657748. 4

Question Number : 38 Question Id : 92090614617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Black quarter disease is

(1) An acute infections, bacterial disease
(2) It 15 soil borne infection generally occurs during rainy season
(3) An non infections, viral disease

(4) It is caused by Clustridiyn Chauvuei

Choose the correct answer from the options given below :

(1) (A) only

(2) (C) only

(3)  (A), (B) & (D) only
(4) (C) & (E) only

Options :

92090657749. 1
92090657750. 2
92090657751. 3
92090657752. 4

Question Number : 38 Question Id : 92090614617 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
D DI g
A, U& dig HhHulty, Sitarodia 3|
B. 3¢ Yal-ai-d I g Sl WHad: a9l g H el g
C. U 3pHUITY, fawmupdia I
D. U FENSTH Tl S GRIEIA G|
£ WIS SiFd A
e fau 7o fawred & 9 9 IR &1 984 S :

(1) &dd A

(2) &dd C

(3) $dd A, B3RD

(4) Had C IRE
Options :

92090657749. 1
92090657750. 2



92090657751. 3
92090657752. 4

Question Number : 39 Question Id : 92090614618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  Flesh foods are rich in protein and are good sources of Vitamin
B12.
Statement [ :  Vegetable foods are also good source of Vitamin B12.

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is correct but Statement 11 is incorrect

(4) Statement [ is incorrect but Statement Il is correct

Options :

92090657753. 1
92090657754. 2
92090657755. 3
92090657756. 4

Question Number : 39 Question Id : 92090614618 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TRasFfumE

FUFI ;. HG B HISH UIEH T93 8idl 8, SR 31 812 &1 331 Wid g
FYTI:  Foall aral Hiod o [3ef@ 812 & o= Aid B

IURIF YA & Hals §, - 34U 7 fadedt § 8 gt 3R &1 994 Sifog|

(1) ARG TT

(2) YT A1 S S B

(3) @Y T g, e T 1l A g
(4) DY 3T g, A U1 TA g

Options :

92090657753. 1
92090657754. 2
92090657755. 3
92090657756. 4

Question Number : 40 Question Id : 92090614619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | : Rabies 1s a disease of dogs foxes, wolves, hyaenas and in some

places it is disease of bats which feed on blood.

Statement [  : Rabies 1s passed to other animals or to peoples if they are bitten

by an animal with rabies.

In the light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are correct
(2) Both Statement I and Statement Il are incorrect
(3) Statement [ is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement II 1s correct



Options :

92090657757. 1
92090657758. 2
92090657759. 3
92090657760. 4

Question Number : 40 Question Id : 92090614619 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TFRdFFEfRumE

FUFI ;. Xd, P, el NSl dhsardl 3R $E R W 39 IHGS] &1 I § Sl
Tad &1 HIoH & 6 |

FUAN - Wmﬂiﬁaﬂaﬁmwﬁmﬁwﬁmm%ﬂﬁﬁmmaﬁaﬂaﬂ
®Ie |

IR HYF F 2TeiE H, A fau T fawedi H @ uE 3R &1 994 S|

(1) &Y 3R EH 9d
)  HYF R NEH T |
(3) YT I g, Afh BYUA Il 3Fd gl
(4) DY T €, AfET FUF 11 g 2l
Options :
92090657757. 1
92090657758. 2

92090657759. 3
92090657760. 4

Question Number : 41 Question Id : 92090614620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements :

Statement [ : Chokla (Shekhawati) 15 a Indian sheep breed, its origin &
distribution is Sikar, Churu and Jhunjhunu of Rajasthan.

Statement [1 : Chokla have ‘Roman nose’, medium size body & also known as
“Indian Merino”

In the light of the above statements. choose the correct answer from the options given
below :

(1) Both Statement [ and Statement I are true
(2) Both Statement I and Statement Il are false
(3) Statement [ is true but Statement I1 is false

(4) Statement 1 is false but Statement 11 is true

Options :

92090657761. 1
92090657762. 2
92090657763. 3
92090657764. 4

Question Number : 41 Question Id : 92090614620 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TR E

HYFI - dAibdl (IEE) Th R 93 P 75 8, ST 3¢H 31X TR o[ & i,
TF IR YT B

U ?ﬁmﬁw:naznmmﬁﬁwam%ahﬁ-m?ﬁaﬁﬁ:nfﬁwm
|

IR HYF F e H, = f3u 7 fasmedt § 9 |et 3% &1 994 S|

(1) &Y 3R 1S g B

(2)  &YFI1 RIS e B

(3) @Y1 T ¢, dich B Il 39 g
(4)  FYAI EA g, A FYA I FA G

Options :

92090657761. 1
92090657762. 2
92090657763. 3
92090657764. 4



Question Number : 42 Question Id : 92090614621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements @ One is labelled as Assertion A and the other is

labelled as Reason R.

Assertion A:  Anthrax causes acute mortality in ruminants which is caused by

bacterium Bacillus anthracis

Reasons R : These Bactria produce extremely potent toxins which are responsible

for the ill effects, causing high mortality rate.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

Options :

92090657765. 1
92090657766. 2
92090657767 3
92090657768. 4

Question Number : 42 Question Id : 92090614621 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



I g1 e[ 84U 1Y §: U i@ (Assertion A) 6 ®U T ARG € o GEY 3P HRUI (Reason R)
& Fq ﬁ;

MY A - & a1 ggedi (FHHCH) # IR did gHRS ¢ o, Sfiar]
‘ U & SR Bl g

HRUIR ; g Sia1] it Had a9 o SRl & forhd HRUI, §ERT ardd uHd
IRIA YR ed e |

TR HYA & Hdld 4, i [T 70 fawedl § 9 99 Jugad IR &1 99 S|

(1)  A3RRTH Tel € 3R R, A DI T IR g

(2) AR REH Tl g, At R, A B! Ug! AR 7Tgi g
(3) AWEE Al REE TR 8

(4)  AEITEIE AT R T T

Options :

92090657765. 1
92090657766. 2
92090657767 3
92090657768. 4

Question Number : 43 Question Id : 92090614622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion A and the other is
labelled as Reason RH.

Assertion A : Carbon dioxide, methane, nitrous oxide is included in green house
gases.
Reasons B :  Hydrogen is not include in the eategory of green house gases.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R 1s NOT the correct explanation of A
(3) A is correct but R is not correct
(4) A is not correct but R is correct
Options :
92090657769. 1

92090657770. 2
92090657771. 3



92090657772. 4

Question Number : 43 Question Id : 92090614622 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Qﬁa‘rﬁﬁwﬁu U §: U HUFYA (Assertion A) & w0 ¥ fe1f@d g ol g8 3D SR (Reason R)
=g

AfBYT A : Pl SEARISS, HAA IR A3y Harss M gr3-4 141 & |iifed 8|
HRUIR - gIgSIoH & ¥iH g4 14 &1 Joft & ¥ Ta1 T g
TRl HYA & Hedld 4, i [T 70 fadwedl § 9 99 Iugad IR &1 994 DIt |

1) ASIR RGHI U5l § AR R A T el s g

2)  ASRREH Wl g Al R, A T Ue! SRS el &1
3)  AHElE A R EE AL B

4)  AEE L g, AT R TW B

L

(
(
(
(

Options :

92090657769. 1
92090657770. 2
92090657771. 3
92090657772. 4

Question Number : 44 Question Id : 92090614623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion A and the other is

labelled as Reason R.

Assertion A:  Animal Welfare Board of India (AWBI) was established in 1962
under the prevention of Cruelty to Animal Act 1960

Reasons B :  World Animal Welfare Day Celebrates on 6tk October

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A
(3) A is true but R is false

(1) A 1s false but R 1s true

Options :

92090657773. 1
92090657774. 2
92090657775. 3
92090657776. 4

Question Number : 44 Question Id : 92090614623 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

14 31 YA Gy U §: Ud HfUBYA (Assertion A) & ®U T faf@d § dl gEU IHP BRI (Reason R)
& =0 ff;

IBYT A :  HURd & U Sl a1 (AWBI) DI RIMAET 1962 H FHaRI & ufd Fdaan
T 1960 & 3Rl &t 113 o1

HROUIR : fasy U] el fGad 6 Sagar &I B Sl g |
IR YA F HcdiP §, i AU 70 fahedl § 9 98 Iuged IR &1 994 HIfe|

(1)  ASRREH Tel g AR R A DI U A B

(2) AR RGHI ol g, dfd R, A DI gt R gl &
(3) A WElg, dfds R Ea 7al o

(4) A HEl e ¢, Wb R TR §

Options :



92090657773. 1
92090657774. 2
92090657775. 3
92090657776. 4

Question Number : 45 Question Id : 92090614624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in ascending Chronologic order according to their year of
establishment

(1) Prevention of food adulteration Act

(2) Animal welfare Board of India

(3) Meat food product order

(4) Milk & Milk product order

(5) Food Safety and Standard Act

Choose the correct answer from the options given below :

(1)  (A), (C), (E), (D) & (B)
(2) (A, (B), (C), (D) & (E)
(3)  (A), (E), (C), (D) & (B)
(4)  (A), (D), (C), (E) & (B)

Options :

92090657777. 1
92090657778. 2
92090657779. 3
92090657780. 4

Question Number : 45 Question Id : 92090614624 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Frofafea & 39! v & ad & ggd sred § gaifad S
A e firarae @ g9 & sifefan

B. HRd @ UY S are

R K | AT | )

D. & 3R g JAUE S

E @R YA 3R A

A feu u fowedl / | Hel I F1 994 S ;
(1) ACEDB

(2) ABCDE

(3 AECDEB

(4 ADCEB

Options :

92090657777. 1

92090657778. 2

92090657779. 3
92090657780. 4

Question Number : 46 Question Id : 92090614625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List 1T -

List I List I1
Types of breeding Definition
(A) Close Breeding (I) Matching of pure breed
male with unrelated female.
(B) Out Crossing (IT) Less intensive format
inbreeding
(C) Top Crossing (III) More intensive form of
inhreeding
(D) Line Breeding (IV) Matching between
unrelated animals of same
breed

Choose the correct answer from the options given below :

(1)  (A)-(D), (B)-I), (C)-(IL), (D)-AV)
(2)  (A)-ID, (B)-(IV), (C)-(D), (D)-I)
(3)  (A)-aD, (B)-(LI), (C)-(AV), (D)-(T)
(4)  (A)-AV), (B)-(ID), (C)-1D), (D)-(T)

Options :

92090657781. 1
92090657782. 2
92090657783. 3
92090657784. 4

Question Number : 46 Question Id : 92090614625 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt 1 F Ty gl 1 & fHeE Sifen

(A)

(B)
(€
(D)

i
PEECEGARGAC

Hqd Uor (et sitfe

afg: Tabaur
3 (C10) HHr
YT U

()

()
(1)
(v

-1
gfyurer

S N & A R Y arelt
HIET & 1Y

3=: Uel=+ &1 &Y g+ UbKR
3= Uo7 i3 T84 UPR

% g % & fa d@dy g
ggafl & o9 9

4 2 mu el 7 | w8 I &1 994 Ff

(1 (A, (B)-(), (C)-(I), (D)-(IV)

(2 (A)-(), (B)-(1V), (O)-(1), (D)-()

(3 (A)-(I), (B)-(I), (C)-(IV), (D)-(1)

4 (A)-IV), (B)-(1), (C)-(1), (D)-(1)
Options :

92090657781. 1
92090657782. 2
92090657783. 3
92090657784. 4

Question Number : 47 Question Id : 92090614626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List IT -

(A)
(B)
(©
(D)

List I

Mating

Sire to daughter mating
Half Sid mating

Single first cousin mating
Half first cousin mating

List IT
Coefficient of relationship
(D 0.0625 or 6.25 %
(I)  0.50 or 50 %
(III) 0.25 or 25 %
(IV) 0.125 or 12.5 %

Choose the correct answer from the options given below :

(1)  (A)-D), (B)-(11), (C)-(IV), (D)-(D)

(2) (A0, (B)-(ID), (C)-(IID), (D)-AV)

(3 (Q)-AV), (B)-a1D), (C)-D), (D)-(D

(4)  (A)-ID), (B)-(IV), (C)-(D), (D)-(IT)
Options :

92090657785. 1



92090657786. 2
92090657787. 3
92090657788. 4

Question Number : 47 Question Id : 92090614626 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Gt | & Gy g 1| 1 e Siferg

Selll GEIS
. S
(n)  TOGT (Sire) FTEET § TIH (1) 0.0625 71 6.25%
(B) I (BTWHIES) THH @fdm) ()  0.50 °T 50%
(€) Udd UYH I=1 §IH () 0.25 T 25%
FTd B do Afdm)
(D) ST UYH <R HITH (V) 0.125dT12.5%
(BT BT &l Afem)

i fu 70 fawedl § 9 9l 3T &1 904 ST

(1) (A)-(I1), (B)-(lm), (C)-(IV), (D)-(1)
(2) (A)-(D), (B)-(1), (C)-(ln), (D)-(IV)
(3) (A)-(IV), (B)-(I), (C)-(l), (D)-(1)
(4) (A)-(Il1), (B)-(1V), (C)-(1), (D)-(I1)

Options :

92090657785. 1
92090657786. 2
92090657787. 3
92090657788. 4

Question Number : 48 Question Id : 92090614627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Types of out breeding are-

(1) Out - crossing

(2) Grading up

(3) Close breeding
(4)  Line breeding

(5) Top Crossing

Choose the correct answer from the options given below :

(1) (A & (C) only
(2) (A, (C) & (D) only
(3) (A & (B)only
(4)  (A), (B) & (E) only

Options :

92090657789. 1
92090657790. 2
92090657791. 3
92090657792. 4

Question Number : 48 Question Id : 92090614627 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

FEY: Wl & UHR ¢ -

A 9EY: HHI0

B. Uf&wam

¢ FEcm A

D. N U

e Sifgao

e feu e faeredl # U |el I &1 9 S :
(1) @ad AR C

(2) @ad A C3RD

(3) &ad ASRB

(4 ad A BMNE

Options :

92090657789. 1
92090657790. 2
92090657791. 3



92090657792. 4

Question Number : 49 Question Id : 92090614628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Breeding Value is-

(1)  The Sum of average effects of genes carried by an individual.

(2)  The Value of individual judged by means of its progeny

(3)  Average of phenotypic values of an individual who have same genotype
(4) Observed value of trait measured on an individual

(5) The twice of mean deviation of progeny from its population means

Choose the correct answer from the options given below :

(1) (A) & (D) only

(2)  (C) & (D) only

(3)  (A), (B) & (E) only
(4) (D) only

Options :

92090657793. 1
92090657794. 2
92090657795. 3
92090657796. 4

Question Number : 49 Question Id : 92090614628 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



oA T ¢ -

A TP Siiq H UIE 7T ST & 3 UHIE 101

B.  3{U- Hdld &1 gRI < HA drdl Sfld HT AF

C. U uilg, & A SiHIesy 36dl g, & WiHesy AFl &1 $iEd
D. U® Sild & TN & Uferd HF &1 AU

E. 39 YA "1 A G=dfd & W fage &1 &1 A1

Hid fau v faedl & 9 &l o) &1 984 S :
(1) dd A3MRD
(2) @dd C3RD
(3) dd A, B3RE
(4) &dd D
Options :

92090657793. 1
92090657794. 2
92090657795. 3
92090657796. 4

Question Number : 50 Question Id : 92090614629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If genotypic frequency of dominant homozygote 1s P = 0.05 and genotypic frequency
receive homozygote is @ = 0.65 then find out the gene frequencies P & 9 -

(1) P=0.20&9=0.80 2) P=0.80&9=0.20
(3) P=0.40 & 9=0.60 4 P=0.30&9=0.50
Options :

92090657797. 1
92090657798. 2
92090657799. 3
92090657800. 4

Question Number : 50 Question Id : 92090614629 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



gfe U YUl GHgES &1 SfiFeEY 3Mafd p = 0.05 8 3R 9D SUHE GHWTS @1
g =0.65 g dl p 3R Q g &1 HF FId Piforg:

(1)  p=0203R g=080 2) p=0.803R g=020
3) p=0403R g=060 (4) p=0.303R g=050
Options :

92090657797. 1
92090657798. 2
92090657799. 3
92090657800. 4

Question Number : 51 Question Id : 92090614630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If correlation coefficient of full sib is (0.2 then find out the heritability of a trait

(1) 02 2y p.d
(3) 0.8 (4) 0.16
Options :

92090657801. 1
92090657802. 2
92090657803. 3
92090657804. 4

Question Number : 51 Question Id : 92090614630 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
gfe dquf (full sib) &1 TeHdd TOME 0.2 €, Al 3T A& &1 RIS HF F1d Diford:

(1) 0.2 (2) 04
2 B (4) 0.16
Options :

92090657801. 1
92090657802. 2
92090657803. 3
92090657804. 4



Question Number : 52 Question Id : 92090614631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"Hesemblance between relatives” is the basies of estimation of

(1) Heritability (2) Repeatability
(3) Coenetic correlation (4) Regression
Options :

92090657805. 1
92090657806. 2
92090657807. 3
92090657808. 4

Question Number : 52 Question Id : 92090614631 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“Hg-Haitd] &1 Ud ol feer Fafafad # @ fas! Argd &1 sy g2

(1) SR @Refadrd 2) YR (Rdiefaeiid)
3y  Mdfre Geddy GRfdediRewE) (4 ufdimEE (aEE)
Options :

92090657805. 1
92090657806. 2
92090657807. 3
92090657808. 4

Question Number : 53 Question Id : 92090614632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In case of inbreeding, heritability tends to

(1) Decline (2) Inerease
(3) Remains Same (1) Remains Zero
Options :

92090657809. 1
92090657810. 2
92090657811. 3
92090657812. 4



Question Number : 53 Question Id : 92090614632 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3= ol & SR, SR H el g

(1 & @ dfe

(3) SR (4) YT g
Options :

92090657809. 1
92090657810. 2
92090657811. 3
92090657812. 4

Question Number : 54 Question Id : 92090614633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Population genetics is a

(1) Quantitative Science (2) Quantitative Science
(3) Fundamental Science (4) Applied Science
Options :

92090657813. 1
92090657814. 2
92090657815. 3
92090657816. 4

Question Number : 54 Question Id : 92090614633 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TP HARD! §, Uh

(1)  HEEHS fage (2) oS faE

(3)  Hifd® (HURYD) fagH (4) oAdEING fagH
Options :

92090657813. 1
92090657814. 2
92090657815. 3



92090657816. 4

Question Number : 55 Question Id : 92090614634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Genetical studies for inheritance of phenotypic traits in a given population is
called as

(1) Population Genetics (2) Gene Pool
(3) (Games Pool (1) Parental Gene Pool
Options :

92090657817. 1
92090657818. 2
92090657819. 3
92090657820. 4

Question Number : 55 Question Id : 92090614634 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

& 77 wafy & wiiersfue el & fre sndfire srergs seaar @

(1) gafp srdfet (2) Y
3  gms (e gd (4) WS o gd
Options :

92090657817. 1
92090657818. 2
92090657819. 3
92090657820. 4

Question Number : 56 Question Id : 92090614635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fiven below are two statements @

Statement [ : In Monohybrid cross number of traits taken are one, F2
phenotypie ratio 15 3:1 and F2 genotypic ratio 1s 1:2:1

Statement [I  : In Dihybrid eross number of traits taken are two, F2 phenotypic
ratio 15 9:3:3:1 and F2 genotypic ratio 1s 1:2:1:2:4:2:1:2:1.

In the Light of the above statements, choose the correct answer from the options given
below :

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I is true but Statement 11 is false
(4) Statement I is false but Statement II is true

Options :

92090657821. 1

92090657822. 2

92090657823. 3
92090657824. 4

Question Number : 56 Question Id : 92090614635 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

I FFARTE

HUF| ;U GHR Jaxvl H, Fores ud weron o 711 § £, &1 BiIesd &1 ST 3:1 3R
F2 BT SiFICTRY 34Td 1:2:1 B

HUFI: U fgddx G0 § §1 A0l el o §, Fo &1 BiHICISY &1 STd 9:3:3:1 § 3R
F, BT SIHICSY 3O 1:2:1:2:4:2:1:2:18 |

IR YA & HTdlD |, - U T faeedi d @ |E 3R &l 994 S|

(1) B 13RI SHI g B

(2) &Y AR AT I B

(3) HY I T g, Wi BYF Il FA T
(4) U A g, Afch B 11 FA B

Options :

92090657821. 1
92090657822. 2
92090657823. 3
92090657824. 4



Question Number : 57 Question Id : 92090614636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  Inbreeding decreases homozygosity

Statement I : Out breeding decrease heterozygosity

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement I are correct
(2) Both Statement [ and Statement I are incorrect
(3) Statement [ is correet but Statement 1l is incorrect

{4) Statement [ 1s incorrect but Statement 11 is correct

Options :

92090657825. 1
92090657826. 2
92090657827. 3
92090657828. 4

Question Number : 57 Question Id : 92090614636 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



e g1 wuA feg e &
HUF| ;3 U H GHgIHSTAl 9edl g |

FUFI: 969 UoH ¥ fasagmerdr gedi g1
SURIad B & dld 8, 1 Gy 7 fawedt # & Wt 3R &1 997 By

(1) @y AR IS ga gl

(2) YT AR SH A B

(3)  @YT | TA g, dith B Il 3 B
(4) HUF | ATH g, A U 11 TI B

Options :

92090657825. 1
92090657826. 2
92090657827. 3
92090657828. 4

Question Number : 58 Question Id : 92090614637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the number of chromosomes in following animals in ascending order

(1) Pig

(2) River buffalo
(3) Goat

(4)  Sheep

(5) Horse

Choose the correct answer from the options given below :

(1) (E), D), (C), (B) & (A)
(2)  (B), (O, (D). (E) & (A)
(3 (A, (B). (D), (C) & (E)
4) (@A), (B), (C), (D) & (E)

Options :

92090657829. 1

92090657830. 2

92090657831. 3
92090657832. 4



Question Number : 58 Question Id : 92090614637 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frafafEa mitrdl &1 398 SR 31 48N F ded e § auafyd Sifo:

A 3R

B. o 99 (&R Itha)
c. aHd

D. ¥H8

E HI3l

Hid fqu 7 faweal & 9 98! 3R &1 994 I -
(1} ED,CBA

(2 BCDEA

(3) ABDCE

4 ABCDE
Options :

92090657829. 1
92090657830. 2
92090657831. 3
92090657832. 4

Question Number : 59 Question Id : 92090614638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion A:  When an individual differ in characters from its parents this is called
as variation., An individual with in the same breed and the species

varies from other in same of its characters.

Reasons R :  Variation is due to heredity causes such as recombination

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A is correct but R is not correct

(4) A is not correct but R is correct

Options :

92090657833. 1
92090657834. 2
92090657835. 3
92090657836. 4

Question Number : 59 Question Id : 92090614638 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



iﬁa‘ra‘%mﬁuw% U AUBYA (Assertion A) & ®U ¥ faf@d g o g8Y 39d BRI (Reason R)
w0 o

HBYTA :  Ofd BIS ol A&l H U Arar-foar | i grar g of 39 fafteant sga g1
i U A% MR U & gER oiidl 9 $ & § fid giar g1

HRUIR : HERIedl & HRU = SR g, IaRads a1 o1 g fJuuE
(E2-F0) & EFaI gl

IRl FYF & Tdi$ T, i fAU M0 faedl T 9 ga4 Iugdd IR &1 99 Hifed|

(1)  ARREH el € AR R, A DI Tgl B

(2) AR RTH el g, Al R, A D Tg! ARS8 &

(3) AEEIE, Wb R TS TR &

(4) A SRITE €, Al R TE €

Options :

92090657833. 1
92090657834. 2
92090657835. 3
92090657836. 4

Question Number : 60 Question Id : 92090614639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is

labelled as Reason (R).

Assertion A:  In Cattle, the weight of male calves is higher than female calves

Reasons R : Male Conceptus prolongs the gestational length.

In the light of the above statements, choose the most appropriate answer from the

options given below :

(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is NOT the correct explanation of A
(3)  Aistrue but R 1s false

(4) A is false but R is true

Options :



92090657837. 1
92090657838. 2
92090657839. 3
92090657840. 4

Question Number : 60 Question Id : 92090614639 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

d &1 Y= [ 710 §: U@ HfUEBYA (Assertion A) & ®9  H fiRGd g df gOY 9P R (Reason R)
& wY ff;

AP A - HARMA! @Y H R d@e] &1 UR, "Gl dos! 4 ¥ gl g
HRUR: R THYRON § el awell gidl 81
IRl YA & H1eld F, =i U 7Y fasedl § 4 99 Iugad IR &1 99+ DI

(1)  A3RREH Tel § 3R, A DI gl RSN &

(2)  A3RRSH Tl § dfhT R A P T RSN A g
(3) ATRIE AfBA R E T B

(4)  ATTIEl g A R Ta B

Options :

92090657837. 1

92090657838. 2

92090657839. 3
92090657840. 4

Question Number : 61 Question Id : 92090614640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aristotle’s Model of communication is

(1) Speaker - Speech - Audicance
(2) Source - Message - Channel - Receiver
(3) Source — Transmitter — Channel — Receiver - Destination °

(4) Speech — Speaker - Destination

Options :

92090657841. 1
92090657842. 2
92090657843. 3
92090657844. 4



Question Number : 61 Question Id : 92090614640 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3T 1 HAR & RS g

(1) deRIT — HINOT —» HidT

(2) Wid - 9e¥ - Id — Ul

(3) @H—}m—}M—rWﬁf—rw
(4)  HIHUT - ol — Tidod

Options :

92090657841. 1
92090657842. 2
92090657843. 3
92090657844. 4

Question Number : 62 Question Id : 92090614641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The non — projected extension teaching audio visual aid is

(1) Black Board (2) Leaflet
(3) Letter {4) Drama
Options :

92090657845. 1
92090657846. 2
92090657847. 3
92090657848. 4

Question Number : 62 Question Id : 92090614641 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
H-uaftd var e, Tg-ye 9reE § -
(1) sAH e (2 T (dmde)
3 W (4) S

Options :



92090657845. 1
92090657846. 2
92090657847. 3
92090657848. 4

Question Number : 63 Question Id : 92090614642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Commercial dairy farming ; poultry farming are the specialized farming system where

50% or more income is derived from a single enterprise is most in India
(1) Common type of Farming (2) Diversified Farming
(3)  Riskiest Farming System (4) Small Scale Farming System

Options :

92090657849. 1
92090657850. 2
92090657851. 3
92090657852. 4

Question Number : 63 Question Id : 92090614642 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qififeasd S99 W diee! Bi fa9y $N ol 8, S8l Ue I9d ¥ 50% a1 $Hitd 3
U 31 HRd | 9l Bl

(1)  HHR USR S Wdl 2) fafay usR ot wdt
3)  SIREH 4 Wt vomelt 4) DI UHH P el yomer
Options :

92090657849. 1
92090657850. 2
92090657851. 3
92090657852. 4

Question Number : 64 Question Id : 92090614643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The feature of Gosadan scheme does no include

(1)  The Scheme was launched during five year plan

(2)  Aim of Scheme to segregate old I unproductive cattles. From good ones to avoid
random mating

(3) Generally located in remole forest area and waste lands.

(4)  This is a place where animals especially productive cattles are kept.

Options :

92090657853. 1
92090657854. 2
92090657855. 3
92090657856. 4

Question Number : 64 Question Id : 92090614643 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T die &1 ferdiea 3 wfefera el 8-

() OIS S YEaNTg 9o & SR ard faean o

(2) O 1 I g R AAESH UYSH B Dled S U3l ¥ Ggdar o1 difdb
UEs3 GHITH H 91 ol 9d |

(3)  HHEgd: 98 Yo oiiTel & SR dor-yfA d safeyd ot
4) U8 Udh UHI ™M g, Wgl fa9iydal Sdied HarR! &1 3@l Widl g |

Options :

92090657853. 1
92090657854. 2
92090657855. 3
92090657856. 4

Question Number : 65 Question Id : 92090614644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Most important factor in the process of social change is

(1) Government (2) Economy
(3) Religion (4) Family
Options :

92090657857. 1



92090657858. 2
92090657859. 3
92090657860. 4

Question Number : 65 Question Id : 92090614644 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
wrTfores gftad= &1 witar # waiftis geagul oRe® §-

(1) EIHR ) deraxy
3 4 (@ uiERr
Options :

92090657857. 1
92090657858. 2
92090657859. 3
92090657860. 4

Question Number : 66 Question Id : 92090614645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Smaller Community Size, Maximum homogeneity and lowest population density are
characteristics of

(1) Urban Community (2) Tribal Community
(3) Rural Community (4) Social Community
Options :

92090657861. 1
92090657862. 2
92090657863. 3
92090657864. 4

Question Number : 66 Question Id : 92090614645 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Bl TS APR, HUHdH UHEqdl (FHRHd) $H e Tfagiad sk I=ad
ST U, 3 fasivan @ -

(1) e ugE &l (2) Sffear gy &t
(3) T HHE &l (4) HTHIRSIE THGY &1
Options :

92090657861. 1
92090657862. 2
92090657863. 3
92090657864. 4

Question Number : 67 Question Id : 92090614646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following extension literature in increasing order of their number of
pages -
(1) Pamphlet, leaflet, Booklet, Bulletin, Book
(2) Leaflet, Pamphlet, Bulletin, Booklet, Book
(3) Leaflet, Pamphlet, Booklet, Bulletin Book
(4) Pamphlet, leaflet, Bulletin, Booklet, Book
Options :
92090657865. 1
92090657866. 2

92090657867. 3
92090657868. 4

Question Number : 67 Question Id : 92090614646 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Frofafed vaR Ttd &1 396 ggi &1 981 & S¢d HH § Jafyd Hiferd|

(1) Yf&IPI (Fhde), U (lihele), gebele, gafed, i
() P, YK, gafeH, ghae, THE
(3) WD, YRkddl, gade, gafed, JKiD
(4) YT, UA®, afed, ghade, TKd

Options :
92090657865. 1



92090657866. 2
92090657867. 3
92090657868. 4

Question Number : 68 Question Id : 92090614647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Steps in extension teaching according to Wilson and Full up are

(1) Attention

(2) Reconsideration
(3) Interest

(4)  Desire

(5) Conviction

Choose the correct answer from the options given below :

(1)  (A) & (C) only

(2) (B) only

3) (A, (B) & (C) only

(4)  (A), (C), (D) & (E) only

Options :

92090657869. 1
92090657870. 2
92090657871. 3
92090657872. 4

Question Number : 68 Question Id : 92090614647 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



faee AR 7e0 & TuR fawar s &1 =0 -

A EIFTHYY]

B. UAMER

c i

D.  3MTHiaN

E ™

e fou U e el 7 4 Wl I &1 U DI :
(1) ad A3MRC

(2) &ad B

(3) ¥ad A BIRC

(4) 99 A CDIRE
Options :
92090657869. 1
92090657870. 2

92090657871. 3
92090657872. 4

Question Number : 69 Question Id : 92090614648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Elements of learning situation are

(1) Teacher

(2) Learner

(3) Subject Matter
(4) Physical Facilities
(5) Teaching Aids

Choose the correct answer from the options given below :

(1) (A) only

@)  (A) & (B) only

(3) (A, (B) & (C) only

(4)  (A), (B), (C), (D) & (E) only

Options :

92090657873. 1
92090657874. 2
92090657875. 3



92090657876. 4

Question Number : 69 Question Id : 92090614648 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e ot fRufa &1 geafeg @@) ¢ -

A, P

B. Rremdf

c. fawgay

D. e Fiaum

E. T2ramor amEh

< feu Ty fasedl & € |el Iv &1 994 Sifo :
(1) <dd A

(2) Pad A 3R B

(3) Fad A B3RC

(4) A B, CDS3RE

Options :

92090657873. 1
92090657874. 2
92090657875. 3
92090657876. 4

Question Number : 70 Question Id : 92090614649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List T with List IT :

List [ List 11
Adopter Categories Meaning
(A) Innovators () Traditional
(B) Late Majority (IT) Deliberate
(C) Early Majority (ITI) Skeptical
(D) Laggards (IV) Venturesome

Choose the correct answer from the options given below :

(1) A-D, (B)-(ID, (O)-ID, (D)-@V)
(2)  (A)-AD, (B)-(L), (C)-AV), (D)-I)
(3 (A)-(V), B)-(ID), (C)-II), (D)-T)
(4)  (A)-(IID), (B)-(IV), (C)-(1D), (D)-(D)

Options :

92090657877. 1
92090657878. 2
92090657879. 3
92090657880. 4

Question Number : 70 Question Id : 92090614649 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il | & |1y gl 1| BT HaE st

gait-| -1l
TSTPR 4uft 37
n) SRS () URERS [CfsEa)
(B) UY TUTHI (T A (y gaTEEd (Sdse)
(€) IS TR (3 Balied) a1y I (THPIE)
(D) STl (@TSH) (V) TTEH! (@)
H1a fau e fasedl | 9 95l TR &1 994 Fio:
(1) (A)-(1), (B)-(I), (C)=(11), (D)-(1V)
(2) (A)-(11), (B)-(11), (C)-(1V), (D)-(1)
(3) (A)-(IV), (B)-(I), (C)-(M), (D)-(1)
(4) (A)-(l), (B)-(IV), (C)-(1), (D)-(1)

Options :



92090657877. 1
92090657878. 2
92090657879. 3
92090657880. 4

Question Number : 71 Question Id : 92090614650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Mateh List T with List 1T -

List [ Last 11

Colour Revolution in India Name
(A) Blue Revolution (I} Meat Production
(B) Red Revolution (IT) Milk Production
(C) Silver Revolution (ITII) Poultry Production
(D) White Revolution (IV) Fish Production

Choose the correct answer from the options given below :

(1) (A)-(IV), (B)-(D), (C)-(I1TL), (D)-(IT)

(2  Q-ID), (B)-(1D), (C)-(IV), (D)-(D
(3 (A)-D), (B)-(ID), (C)-(LLI), (D)-(IV)
4)  (A)-(ID), (B)-(IV), (C)-D), (D)-(D

Options :

92090657881. 1
92090657882. 2
92090657883. 3
92090657884. 4

Question Number : 71 Question Id : 92090614650 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



1 S 91y = 1 F1 EE Hife

-1 T i
U | quftf CIE|
() e @it @ HfgIaEA
() @Td hId () g IdEA
() Toid @I () Fpe (SN I
o) &d FIf av) Tl JdieA

i feu e fasedt @ | el I &1 994 SIS
(1) (A)-0V), (B)-(1), (C)-(1), (D)-(N)
(2)  (A)-(I), (B)-(), (C)-(1V), (D)-(1)

(3) (A, (B)-(), (C)-(1N), (D)-(IV)
(4) (A, (B)-(W), (C)-(), (D)-(1)

Options :

92090657881. 1
92090657882. 2
92090657883. 3
92090657884. 4

Question Number : 72 Question Id : 92090614651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The Sequence of Marketing Channels from top to bottom 15

(1) Producer

(2) Commission Agents
(3) Wholesalers

(4)  Retailers

(5) Consummers

Choose the correct answer from the options given below :

(1) (E), (D), (C), (A), (B)
(2) (A, (B), (D), (E), (C)
(3 (A, (B), (C), (D), (E)
(4) (A, (C), (B), (D), (E)
Options :
92090657885. 1

92090657886. 2
92090657887. 3



92090657888. 4

Question Number : 72 Question Id : 92090614651 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

faur 6 &1 SR W A A TP SHH -
A Jdlgd

B. gald (FHIYA Tole)

C  Ylh-fdehdl

D.  WaY-faehdr

E. JUMIE

2 fau o faseul # ¥ wel IR &1 79U P ;
() EDCAB

(2) ABDEC
(3 ABCDE
(4) A CBDE

Options :

92090657885. 1
92090657886. 2
92090657887. 3
92090657888. 4

Question Number : 73 Question Id : 92090614652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion A:  Extension education is highly informal education with no fixed
syllabus and no Classroom.

Reasons B :  In this education system learners are homogenous

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are true and R 1s the correct explanation of A

(2) Both A and R are true but R 1s NOT the correct explanation of A
(3) A is true but R is not false

(4) A is not false but R is true

Options :

92090657889. 1
92090657890. 2
92090657891. 3
92090657892. 4

Question Number : 73 Question Id : 92090614652 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

iﬁa‘[a}wﬁum% U HUHYA (Assertion A) & ¥Y T faIf@d 8 o g8 IHP HRUI (Reason R)
=0 "

afimpua A . UOR e, 3= sHETERSE fian € forad &g FuiRa ursasn siv e
®ef el gid|

HRUIR 39 e awa o fRemdf, e g 8
TR YA & HdlP 4, i< 40 70 fdhedl § 9 99 Iugad I &1 99 Hifou]

(1)  AMRREH Hel g AR R A DI g AT

(2) AR REH 6l 8, dfth R, A ® Tg! AR el &
(3) AW AldRES TR 8

(4)  AGEITEI ¢, AfbT R TE €

Options :

92090657889. 1
92090657890. 2
92090657891. 3
92090657892. 4



Question Number : 74 Question Id : 92090614653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ : Key Village Scheme ( KVS) was launched in August 1952 during

first five year plan which is also know as “Mother of all Schemes”

Statement I  : KVS was the first step initiated for Systematic Cattle
improvement in the Country and mass castration programme was

also included to eliminated scrub bulls.

In the light of the above statements, choose the correct answer from the options given

below

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement I 1s true but Statement 11 1s false

(4) Statement 1 is false but Statement Il is true

Options :

92090657893. 1
92090657894. 2
92090657895. 3
92090657896. 4

Question Number : 74 Question Id : 92090614653 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



:ﬁﬁlaﬂ?ﬂqmﬂﬁ%

SYTI :  UHE T TIOHET (KVS), 3T 1952 H UyH Y9-au1g JioF1 & SR @ &t 13 8,
39 3= gl draArsfi &t Arar W S71 S 8|

FYTI: P d TF, o H Tafyd U GUR & T Uge HeH o1 3R 39 geg S
HhH H 1t affferd foear man o1 oraes gRT /g 9ig! &1 gl off ¥ |

IURI HUF & ETE | A U T fasmedi @ uet 3 &1 99 S|

(1) &Y 3R IS 9T B

2) P 3R SH 3T B

3) HYF| T g, Tl HY 1| 3T g
4)  HYF| TG g, lfh HYA 1 TA ¢ |

Options :

92090657893. 1
92090657894. 2
92090657895. 3
92090657896. 4

Question Number : 75 Question Id : 92090614654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement [ :  (Gaushalas are charitable institution established by co-operation of

people for housing of productive animals.

Statement 11 . Cows, Claves, bulls and bullocks are kept in Gaushalas

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement I and Statement Il are correct
(2) Both Statement [ and Statement Il are incorrect
(3) Statement I is correct but Statement 1l is incorrect

(4) Statement 1 is incorrect but Statement 1 is correct



Options :

92090657897. 1
92090657898. 2
92090657899. 3
92090657900. 4

Question Number : 75 Question Id : 92090614654 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fﬁﬂﬁmﬁqw%
HYT| ;TS ST $ 8T ¥ RIfUd &1 18 i Twrg 8§ Wel Iurey SiHa’l &l
31y e favar o €1

dUF 1 :  Trrensdi ®§ Y, 998, 9d SR TSl &I @ Wl gl
IR U $ AT §, - faU M0 fFmadi & 9 gl IR &1 994 S|

(1) ®Y RIS T Bl

(2) YU RN ST AT B

(3) HYF | I ¢, Tih HYA Il A B
(4) Y| A g, e B (1 T B

Options :

92090657897. 1
92090657898. 2
92090657899. 3
92090657900. 4

Question Number : 76 Question Id : 92090614655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion A:  Intensive cattle development project (IKDP) was launched in 1965 to
replace key village scheme (KVS)

Reasons B :  Purpose behind starting of ICDP was increasing milk production and
other aspects of cattle improvement such as bleeding, feeding, health
case, extension activities and marketing facilities.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R 1s the correct explanation of A

(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A 1s correct but R is not correct

(4) A is not correct but R is correct

Options :

92090657901. 1
92090657902. 2
92090657903. 3
92090657904. 4

Question Number : 76 Question Id : 92090614655 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T 31 T 3T 710 §: TP SHUEYA (Assertion A) & ¥9 T faf@d § o GEY 3HE BRI (Reason R)
& ¥ ff;

Aty A : T8 U fdB™ IS (ICDP) &1 1965 H UHE UTHIT DI (KVS) & ®IH
W did faa1 141 Ul

HRUR: ICDP & Y% & &1 I5%9 g Il § gig 3R Iy e & g Ueq
o Yo, MIoH, WY &1 3@ YId iR WER Tl qur fauvE
Ticfafery |

TG HUH & HTdld §, #iid iU 70 fddedl & 4 9ad Jugdad IR &1 90 Iy

(1) AR RIH TSI E 3R R, AP el RS 2

(20 A3RRIH Gl AP R A DI Tl RSN 71 ¢

(3) AGEE ARG RESTE B

(4) A eI g, b R T &

Options :



92090657901. 1
92090657902. 2
92090657903. 3
92090657904. 4

Question Number : 77 Question Id : 92090614656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The fat content of milk 1s calculated by

(1) Garber’s Butyrometer (2) Lactometer
(3) Pycnometer (4) Hurt vet apparatus
Options :

92090657905. 1
92090657906. 2
92090657907. 3
92090657908. 4

Question Number : 77 Question Id : 92090614656 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g™ H 1 B A1 &1 T —— & §RI &1 &l g |

(1) ER & FeEdHey 2) dEEHER
3y e (4) gldae JuHLl
Options :

92090657905. 1
92090657906. 2
92090657907. 3
92090657908. 4

Question Number : 78 Question Id : 92090614657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Typical taste of milk of milk is due to

(1) Lactose & iron (2) Calcium & iron
(3) Lactose & Chloride (4) Magnesium & Calcium



Options :

92090657909. 1
92090657910. 2
92090657911. 3
92090657912. 4

Question Number : 78 Question Id : 92090614657 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g™ &1 1§ WG —————— & R Elal g

(1) dded 3R e 2y Hfcoad 3R dg
(3) ogend SR wRISS (4) AR Sk Hicoam
Options :

92090657909. 1
92090657910. 2
92090657911. 3
92090657912. 4

Question Number : 79 Question Id : 92090614658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fishy odour in milk is due to

(1) Kephalin (2) E.Coli
(3) Diacetyl {(4) Annatto
Options :

92090657913. 1
92090657914. 2
92090657915. 3
92090657916. 4

Question Number : 79 Question Id : 92090614658 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T H HEal ol 7Y B HROT 8-

(1) PR @ & @iy
(3) SRUBEES (4) Qf@-l
Options :

92090657913. 1
92090657914. 2
92090657915. 3
92090657916. 4

Question Number : 80 Question Id : 92090614659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Index organism for pasteurization

(1) Coxiella (2) Mpycobacterium
(3 Leptospira (4) Listeria
Options :

92090657917. 1
92090657918. 2
92090657919. 3
92090657920. 4

Question Number : 80 Question Id : 92090614659 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

qIieul & felu Sh i Sifd § -

(1)  Slegua @) HEHIaEIRTT
(3) PRy (4) ferefam
Options :

92090657917. 1
92090657918. 2
92090657919. 3
92090657920. 4

Question Number : 81 Question Id : 92090614660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

Milk is always preferred for Khoa making

(1) Camel (2) Cattle (Cow)
(3) Buffalo (1) Goat
Options :

92090657921. 1
92090657922. 2
92090657923. 3
92090657924. 4

Question Number : 81 Question Id : 92090614660 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

G g9 & forg |ed & Y B Uil UeH & Sk g |
() e ) waght g

@ " (4) &

Options :

92090657921. 1
92090657922. 2
92090657923. 3
92090657924. 4

Question Number : 82 Question Id : 92090614661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Measly pork is caused by

(1) Cysticercus bovis (2) Cysticercus Cellulosae
(3)  Clostridium thermosaccha rolyticus (4) E.Coh
Options :

92090657925. 1
92090657926. 2
92090657927. 3
92090657928. 4

Question Number : 82 Question Id : 92090614661 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

TERTHY Y@ HIY B DR ¢ -

) RiReded §ifdy @ Riedsd dgerd
Q) FIRNITHE yErFeEREH @ & ol

Options :

92090657925. 1
92090657926. 2
92090657927. 3
92090657928. 4

Question Number : 83 Question Id : 92090614662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The brown colour of meat is due to

(1) Myoglobin (2) Met myoglobin
(3) Oxyvhemoglobin (4) Carboxymyoglobin
Options :

92090657929. 1
92090657930. 2
92090657931. 3
92090657932. 4

Question Number : 83 Question Id : 92090614662 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HIE BT Y T BT SR G -

(1)  HAERdife (2) Headreifad
3)  SfieiTeAralfe (4) PEiGITHERATEE
Options :

92090657929. 1
92090657930. 2
92090657931. 3
92090657932. 4



Question Number : 84 Question Id : 92090614663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For preservation of more number of eggs Method 1s not used.
(1) Cold storage method {(2) Thermo — stabilization method
(3) Pasteurization (4) By using earthen pot

Options :

92090657933. 1
92090657934. 2
92090657935. 3
92090657936. 4

Question Number : 84 Question Id : 92090614663 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3iEl & 3T e | e & fore —— fafer v 98 &t 9t |
(1 YiaR () -SRI

(3)  UTH (4) o2l & Ui &1 UaRT Sl
Options :

92090657933. 1
92090657934. 2
92090657935. 3
92090657936. 4

Question Number : 85 Question Id : 92090614664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Pigs foot 1s used a food 15 known as

(1) Trotter (2) Sirloin
(3) Surimi (4) Salami
Options :

92090657937. 1
92090657938. 2
92090657939. 3
92090657940. 4



Question Number : 85 Question Id : 92090614664 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g ge ot U HISH g, 39 o1 Srdl g

(1) TR (2 RRrdEA
(3) g (4) GorH!
Options :

92090657937. 1
92090657938. 2
92090657939. 3
92090657940. 4

Question Number : 86 Question Id : 92090614665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Chilled dressed chicken can be stored for 7 days at a temperature of

(1) 22C (2) 4°C
(3) 10°C (4) 8°C
Options :

92090657941. 1
92090657942. 2
92090657943. 3
92090657944. 4

Question Number : 86 Question Id : 92090614665 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

wefifard wierd 2= &1 7 faHi o AT9HHE W YR faar i g 2
iy e (2) 4°C

(3) 8cC (4) 10°C

Options :

92090657941. 1
92090657942. 2
92090657943. 3



92090657944. 4

Question Number : 87 Question Id : 92090614666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In Cold Storage method of preservation oil coated eggs can be preserve for
months at 14°C and 90% relative humidity.

(1) 4 months (2) 6 months
(3) 8 months (4) 12 months
Options :

92090657945. 1
92090657946. 2
92090657947. 3
92090657948. 4

Question Number : 87 Question Id : 92090614666 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a0 319 Sl d HeSRU & forg, ofid Heru Ay & 3fSi $1 14°C aUHA ™ 3R 90%

arafére amdar HeHl ab HeId frar ST asar g
(1) 4 2) 6

(3) 8 (4 12

Options :

92090657945. 1
92090657946. 2
92090657947. 3
92090657948. 4

Question Number : 88 Question Id : 92090614667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Certain strains of streptococcus lactic varmaltigenes may produce

(1) Bitter Flavour (2) Acid Flavour
(3) Burnt or Caramel Flavour (4) Alkalme Flavour
Options :

92090657949. 1



92090657950. 2
92090657951. 3
92090657952. 4

Question Number : 88 Question Id : 92090614667 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RrIPied dlacy dfe Hiflceod & $8 UHe Iad & udbdl gl

(1)  Fadl (@) Wi (W) (2) MY e
(3)  ©Idl gU &I i d Wie 4) &R
Options :

92090657949. 1
92090657950. 2
92090657951. 3
92090657952. 4

Question Number : 89 Question Id : 92090614668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The technique first described to determine the incipient spoilage in meat was

(1) Homogenate extract volume (HEV) (2) Ager plate count (APC)
(3) Extract release volume (ERV) (4) Plate Count (PC)

Options :

92090657953. 1
92090657954. 2
92090657955. 3
92090657956. 4

Question Number : 89 Question Id : 92090614668 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
T H YHHT ERAE! B IS B B dd-iid bl Tgal [aaxur o -

(1)  gHIfcHe U dlegd (HEV) (2) TR @ e (APC)
(3) UEw Refld afegd (Erv) (4) I BT (PC)



Options :

92090657953. 1
92090657954. 2
92090657955. 3
92090657956. 4

Question Number : 90 Question Id : 92090614669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One 1s labelled as Assertion (A) and the other 1s
labelled as Reason (R).

Assertion A:  We Can draw milk any time from Goat.
Reasons R :  Oxytocin reflex is not required in case of goat for let down and goat
stor

80% of their milk in the cisterns.

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are true and R is the correct explanation of A

(2) Both A and R are true but R is NOT the correct explanation of A
(3) A 1s true but R is not false

(4) A is not false but R is true

Options :

92090657957. 1
92090657958. 2
92090657959. 3
92090657960. 4

Question Number : 90 Question Id : 92090614669 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



iﬁa’rmﬁwﬁqm% U AHUHY (Assertion A) & &9 T faifd g o gER1 36® BRI (Reason R)
bl R

AfYFYT A :  GH I BT gy HH off FihTd T €

PRUIR : gl 7 TR ufdad #1 sirawged! el gl 3R I 3/u g &1
80% Rre=d o ow1 Tl €

TR Y & HTeld §, i AU 70 faswedl ¥ 9 9a9 Iugdd I &1 997 HIf|

(1) A SRREH Ual ¢ 3R R, AT gl TS ¢

2) A3RRIH Gl € Afba R A DI TS RSN AL B

(3) AGEE, A R T AR §

(4) A SR §, dfh R WEI B

Options :

92090657957. 1
92090657958. 2
92090657959. 3
92090657960. 4

Question Number : 91 Question Id : 92090614670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements :

Statement | :  Casein Constitutes about 80% of the total nitrogen present in milk

Statement I  : NPN Constitutes about 5% of the total nitrogen present in milk.

In the Light of the above statements, choose the correct answer from the options given

below -

(1) Both Statement [ and Statement Il are true
(2) Both Statement [ and Statement Il are false
(3) Statement 1 ig true but Statement 11 is false

(4) Statement 1 is false but Statement I is true

Options :
92090657961. 1



92090657962. 2
92090657963. 3
92090657964. 4

Question Number : 91 Question Id : 92090614670 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
S EEAE 2T Tt
HUF| ;g H IURYA Hd ATScIor Bl 80% B gl 8

FUFI: g H IURYT $d ATsclor &1 5% NPH BT 8|
IR HYH b TEiE |, e fou MU faddi H O uEt 3R & 904 S|

(1) @y AR IS aa gl

(2) YT AR SH GEA B

(3) @Y G g, Al HY 1| 3 B
(4) HYF | 3T g, Al B 11 T B

Options :

92090657961. 1
92090657962. 2
92090657963. 3
92090657964. 4

Question Number : 92 Question Id : 92090614671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fiven below are two statements :

Statement | . A minimum for level of 4% in cow milk and 5% in buffalo milk is

necessary to obtain good quality khoa

Statement II  : Buffalo milk is preferred

In the light of the above statements, choose the correct answer from the options given

below :

(1) Both Statement [ and Statement Il are correct

(2) Both Statement [ and Statement I are incorrect
(3) Statement 1 is correct but Statement I is incorrect
(4) Statement [ is incorrect but Statement II 15 correct

Options :

92090657965. 1
92090657966. 2
92090657967. 3
92090657968. 4

Question Number : 92 Question Id : 92090614671 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

“a d e Ry g
HU| ;D] IOIEl BT BT U HI & 10 T & g4 T AT 4% 3R 59 &1 gy |
5% G 1 WR &1 ATTWED g

FUI:  GETEH & U 39 & gY B urufiear 1 Wl |
IURIad YA & e 4, g 73 7o fawedt # @ wdt I &1 9 P
(1) S 3R 1 S T g

2 Y1 AR EH 3R B

(3) Y| A g, Al FUF Il 3T 2
(4) HUF| ITH ¢, A FUF | T B



Options :

92090657965. 1
92090657966. 2
92090657967. 3
92090657968. 4

Question Number : 93 Question Id : 92090614672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Given below are two statements : One is labelled as Assertion (A) and the other is
labelled as Reason (R).

Assertion A ¢ Buffalo milk is white in colour

Reasons R ¢ The white colour of milk is due to earotene

In the light of the above statements, choose the most appropriate answer from the
options given below :

(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is NOT the correct explanation of A
(3) A 18 correct but R is not correct

(4) A 1is not correct but R is correct

Options :

92090657969. 1
92090657970. 2
92090657971. 3
92090657972. 4

Question Number : 93 Question Id : 92090614672 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



d &1 Hy= Gy 1T §: U@ YA (Assertion A) & ®9  H fafGd g df gEY 3HE IR (Reason R)
& ¥q ﬁ;

AfFyT A . T B Y BT 4d gl B
BRUIR - 2 BT 4d T A S BRU eIl ¢
JURIad U & HTelld °, =i fU 710 fadei § 4§ 98 Iugad IR &1 994 DIty

(1)  ASRREH Uel g 3R R A T Tl A B

(2) A SRREH Tl g, afd R A BT gl IR 81 &
(3) A TEIE, A R S e o

(4) A GEIE g, b R WA B

Options :

92090657969. 1
92090657970. 2
92090657971. 3
92090657972. 4

Question Number : 94 Question Id : 92090614673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Match List I with List I1 :

List I List II
(Animal) (Meat)
(A) Calf ()  Bush meat
(B) Wild Animals (IT) Bacon
(C) Pig (I1I) Mutton
(D) Sheep (IV) Veal

Choose the correct answer from the options given below :

(1) (A)-M, (B)-(1I), (C)-(ID), (D)-IV)
(2)  (A)-AV), (B)-(), (C)-dI), (D)-(1L)
(3) (AL, (B)-@V), (C)-(D), (D)-(II)
(4)  (A)-(D, (B)-(I), (C)-(D), (D)-(IV)

Options :

92090657973. 1
92090657974. 2
92090657975. 3
92090657976. 4



Question Number : 94 Question Id : 92090614673 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= | Y = 0 F P e

-1 =t -

EIECrs g
(A) IS (m gHE
(8) el O] () &
(€ T iy "
D) WS (av) did

A feu o fase H 9§ el IR &1 994 Hifei:

(1 (A=), (B)-(I), (Ch-(ll), (D)-(IV)
(2)  (A)-(V), (B)-(1), (C)-(I), (D)-(l)
) (
(

L

(3 (A)-(11), (B)-(1V), (C)-(1), (D)-(11)
(@) (A)-(), (B)-(1), (C)-(1), (D)-(1V)

Options :

92090657973. 1
92090657974. 2
92090657975. 3
92090657976. 4

Question Number : 95 Question Id : 92090614674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Quality control tests of milk are

(1) Organoleptic test

(2) Hansa test

(3) Collform count test
(4) Hortvet cryoscope test

(5) Lactometer reading, freezing point depression test

Choose the correct answer from the options given below :

(1) (A) only

(2)  (B) & (D) only

(3)  (C) & (D) only

(4)  (A), (B), (C) & (E) only

Options :

92090657977. 1
92090657978. 2
92090657979. 3
92090657980. 4

Question Number : 95 Question Id : 92090614674 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g™ 1 urEar v St fafiah) & -
A SRS udigm
B. U U

C. IeThIH HIde Tde

D. EI¢de BRIRDIY Uil

£ Claeniiex usH, fenis farg, sraamm adieor
e fau U fawed & 9 wEl IO &1 9 Sifog

(1
(2
(3

)
)
)
(4)

dad A
%ad B AR D
%ad C 3R D
Had A, B, C 3R E

Options :
92090657977. 1
92090657978. 2



92090657979. 3
92090657980. 4

Question Number : 96 Question Id : 92090614675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Arrange the milk of different animals according to decreasing order their fat %

(1) Camel
(2) Goat
(3) Cow

(4) Buffalo
(5) Sheep

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D), (E)
(2)  (B), (C), (D), (E), (A)
(3)  (E), (D), (C), (B), (A)
(4)  (C), (D), (E), (B), (A)

Options :

92090657981. 1
92090657982. 2
92090657983. 3
92090657984. 4

Question Number : 96 Question Id : 92090614675 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) (A (B), (C), (D). (E)
(2) (B (C). (D), (E), (A)
(3) (B, (D). (C), (B), (A)
(4) (O, (D), (E), (B), (A)

Options :

92090657981. 1
92090657982. 2
92090657983. 3
92090657984. 4

Question Number : 97 Question Id : 92090614676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fixed Capital or non — recurring expedition includes-

(1) Feeding during laction period (2) Insurance Charges
(3) Buildings (4) Labour Charges
Options :

92090657985. 1
92090657986. 2
92090657987. 3
92090657988. 4

Question Number : 97 Question Id : 92090614676 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1)  EHIH SafY &1 IRH R (2) YD
(3)  Had (4) D Yeb

Options :

92090657985. 1
92090657986. 2
92090657987. 3
92090657988. 4

Question Number : 98 Question Id : 92090614677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

is the amount that applicant of the project can spend from his own
resources and its generally 25% of the total cost excluding the cost of land.

(1) Margin Money (2) Loan Money
(3) Loss of Project (4) Profit of Project
Options :

92090657989. 1
92090657990. 2
92090657991. 3
92090657992. 4

Question Number : 98 Question Id : 92090614677 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ag A S fodt ufkdier &1 sfided o+ Hidl & 9 $Rdl g SR AHRG: YA & e &)
ISP Fdl el BT 25% BT ¢ :-

() wfoE af 2)  BUIAME
(3)  URgISH &1 81 (4)  ORGIS &1 A
Options :

92090657989. 1
92090657990. 2
92090657991. 3
92090657992. 4



Question Number : 99 Question Id : 92090614678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Factors affecting on economic returns of poultry excludes

(1) Size of Fluck (2) Rate of Lay
(3) Cost of inputs (4) Pay back period
Options :

92090657993. 1
92090657994. 2
92090657995. 3
92090657996. 4

Question Number : 99 Question Id : 92090614678 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) EUS &I ABR (2) 3MUE & DI I (T 3E )
3) ffafsd &1 90 (4) U1 araE safy
Options :

92090657993. 1
92090657994. 2
92090657995. 3
92090657996. 4

Question Number : 100 Question Id : 92090614679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Working Capital in economics of daily unit does not includes

(1) Veterinary Aid (2) Maintenance of Calves
(3)  Feeding during dry period (4) Animals of equipment
Options :

92090657997. 1
92090657998. 2
92090657999. 3
92090658000. 4



Question Number : 100 Question Id : 92090614679 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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(1) ufefeen gga (2) TSl B T@UTE
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Options :

92090657997. 1
92090657998. 2
92090657999. 3
92090658000. 4



